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ECE-320,
Quiz #6

k=00
For your ease, assume the form of convolution y(n) = z x(k)h(n—k) in all of the following problems.

k=—w

N
1) The finite summation S = Zak is equal to
k=0

_ AN AN AN+ N+
a) 1-a b) 1-a C) 1-a d) 1+a e) none of these
l1-a l-a l-a l-a

N+2
2) The finite summation S = Zak is equal to
k=-1

_ AN+3 _ AN+4 _ AN+4 _qN-4
3) allla b) al(lla J 0) al(lla j d a™ (%J e) none of these
—a

3) For adiscrete time system, 6(0) is equal to

a) 0 b)1l c) o« d)itisnotdefined

4) If an LTI system with impulse response h(n) =4""u(n-1) has input x(n) = 5(n), the output of the
system is
a) y(n)=4""u(n-1)s(n) b) y(n)=4""u(n) c) y(n)=4""u(n-1) d) none of these

5) If an LTI system with impulse response h(n) = 3""u(n) has input x(n) =35(n—-1), the output of the
system is
a) y(n)=3""u(n-1) b) y(n)=3"u(n-1) c) y(n)=3"u(n) d) none of these

6) If an LTI system with impulse response h(n) = 2"'u(n-1) has input x(n) = 25(n-1), the output of
the system is

a) y(nN)=2"%u(n-2) b) y(n)=2"u(n-2) c) y(n)=2""u(n—-2) d) none of these
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7) If an LTI system with impulse response h(n) =36(n—1) has input x(n) =25(n-1), the output of the
system is

a) y(n)=3x2u(n-2) b) y(n)=3x26(n-1) c) y(n)=3x25(n—2) d) none of these

8) If an LTI system with impulse response h(n) =3"u(n) has input x(n) =u(n), the output of the
system is

a) y(n)=3"u(n) b) y(n)=3""u(n) c) y(n)=

n+1 n-1

13 U d)yn)=——

u(n) e) none of these

9) If an LTI system with impulse response h(n) =3"u(n) has input x(n) =2"u(n), the output of the

system is
ad st
a) y(n)=3"2"u(n) b) y(n)=3"—-=—u(n) c) y(n)=2"——7—u(n)
1-2 1->
3 2

1_(;jn+ 1_(;jn+
d) y(n)= 1 1

u(n) e) none of these

10) The sumS = Zak will converge provided
k=0

a) |la|>1 b)|a|<1

11) If the sum S =>"a“ converges, it is equal to
k=0
a) ! b) L C) a d) a e) none of these
l+a l-a l-a l+a




